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BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 
01 Cl22 	December, 2017 

(APPLICATION ORIENTED COURSE) 

AEC-01 : ENVIRONMENTAL CHEMISTRY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt all questions. The marks for each question 
are given against it. 

1. (a) Complete any five of the following 
statements : 	 5x1=5 

(i) Excess as well as deficiency of 
	ion leads to chlorosis. 

(ii) Itai-Itai disease is associated with the 
metal 

(iii) A community of animals, plants and 
bacteria and inter-related physical 
and chemical environment is called 
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(iv) The substances that prevent, inhibit 

or kill rodents are called 

(v) The number of gram equivalent 

weight of a substance present in one 

litre of a solution is known as 

	 of a solution. 

(vi) The cell potential measured nearly 

under zero or negligible current flow 

is called 	 of the cell. 

(b) Define any five of the following : 	5x1=5 

(i) Lambert Beer's Law 

(ii) Chemical Oxygen Demand (COD) 

(iii) Aerosols 

(iv) Precipitation Titration 

(v) LD50  of Toxic Pesticides 

(vi) Wavelength 

(c) Answer any five of the following : 	5x2=10 

(i) How is "Pedalogy" different from 

"Edaphology" ? 

(ii) What is the effect of high bicarbonate 

concentration in irrigation water ? 
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(iii) Write one disease each caused due to 
high concentration of nitrate and 
fluoride in water. 

(iv) Differentiate between Chromophore 
and Auxochrome. 

(v) Why is it necessary to calibrate the 
glass electrode before determining 
the pH of a solution ? 

(vi) Name any two common reference 
electrodes which can be used for 
potentiometric titrations. 

2. Answer any four of the following : 	4x5=20 

(a) What are Sedimentary Rocks ? How are they 
formed ? Name any two sedimentary rocks 
and the minerals commonly dominant in 

them. 

(b) What is a Hydrological Cycle ? Explain the 
various stages of a hydrological cycle 
alongwith a diagram. 

(c) What do you understand by Green House 
Gases ? Name any two of them. Explain the 
global warming potential of green house 

gases. 
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(d) Explain the implant procedure for waste 

disposal/treatment of effluents from a 

petrochemical industry. 

(e) What are the steps involved in sampling 

procedure of soil ? 

(f) The conductivity of 0.20 M solution of KC1 at 
25°C is 2.5 x 104  S cm-1 . Calculate its molar 
conductivity. 

3. Answer any four of the following : 	 4x5=20 

(a) Explain how water and temperature interact 

in physical weathering of rocks and 

minerals. 

(b) How can we use water more efficiently by 

making modifications in agricultural 

practices ? 

(c) What do you understand by Ozone Layer 

Depletion ? Explain the impact of ozone 

layer depletion on global warming and air 

pollution. 

(d) What are the differences between Aerobic 

and Anaerobic decomposition of sewage ? 

How are they useful in sewage treatment ? 
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(e) What are the advantages of using 

ion-exchange method for treatment of waste 

waters than the other methods ? 

(f) Describe the advantages of Membrane Filter 

Technique in the analysis of water. 

4. Answer any four of the following : 	4x5=20 

(a) How do Topography and Rainfall affect the 

formation of soil ? 

(b) What is Rain Water Harvesting ? What are 

the main health problems associated with 

rain water harvesting ? What remedial 

measures can be adopted for the same ? 

(c) What are Chlorofluorocarbons ? How do they 

affect the atmosphere ? 

(d) Describe the biological treatment methods 

for industrial effluents. 

(e) Write a short note on Precipitation Titration. 

(f) What are the main advantages of Double 

beam photometer over Single beam 

photometer ? 
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5. Answer any four of the following : 	 4x5=20 

(a) Describe three advantages and three 

disadvantages of acid soils for agriculture. 

(b) Explain the need for conservation and 

management of water resources. 

(c) What are the harmful effects of air 

pollutants on human health ? 

(d) What is Sewage ? Describe in brief the four 

important parameters for characterisation of 

sewage. 

(e) Explain the principle and applications of 

flame photometry. 

(f) Define Pesticides. What is Integrated Pest 

Management ? What are its advantages over 

conventional methods of pest control ? 
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